
 

 

KALKYLBLAD            

Modell: Volvo V60 T6 AWD Laddhybrid  

             Volvo V60 B4 HVO100  
 

RESULTAT BILDFORM 

 

 

 

 

 

 

Bild från kalkylverktyget vid 1 500 mil/år Bild från kalkylverktyget vid 3 000 mil/år 

 
 
RESULTAT TABELLFORM 

Modell Miltal 
Bränsle-pris 
(kr/kWh/l/kg) 

Total-kosnad 
företag 
(kr/mil) 

Förmåns-värde 
kostnad företag 
(kr/mil) 

Förmåns-värde 
kostnad förare 
(kr/mån, brutto) 

Kodioxid-
utsläpp 
(ton/år) 

Volvo V60 B4 
HVO100 1500 17,00 67,00 11,10 4440 0,60 

Volvo V60 T6 
AWD Ladd-
hybrid, 60% el 1500 

1,50 el 
16,00 bensin 68,00 10,60 4200 1,10 

Volvo V60 B4 
HVO100 3000 17,00 44,00 5,60 4440 1,20 

Volvo V60 T6 
Laddhybrid, 
30% el 3000 

1,50 el 
16,00 bensin 45,00 5,30 4200 4,00 

jmf VW Golf 
bensin 1500 16,00 48,00 8,30 3150 2,50 

jmf VW Golf 
bensin 3000 16,00 33,00 4,20 3150 5,10 

 


